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The figures in the mctrgin indicate full mcLrhs

far the questions

Panr-A

{ Business Mathematics }

( Il,tarks : 32 )

1. ses ftrT s"&T$Iq E-e-< frm :

Answer the following questions :

(a) $q fl $36 fuT :

Write True or False :

6ozs AT< {FI q,<
(a

fi a=lu
\C

r)
il
k)

1 x3=3
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J-
<rk / lt = =:. (?-,:Len GI ,f (5) = / (-5)
If f (xi = ,.. rhe n show that / i5) = -,f (-5)

<fi +' .'zt 500 B-$;'{ 30 ,.,a< n<E >t,,

ftqa 5'. '

Find tl-rr s-:rrie interest on T 500 aL 4o./t,

p.a. lor ;L nonths"

+

1

i)
I)la.-l

-r I

2. {fr 1

-2

(21

then the value of Ar is

I) qs

l' a

lj b

lk c

If A=

(i a

l; !:

[kc

a i\
b il
"k)

(b)

(c)

Z),

.:i"z afi-drss x ft.fu $-{t $zs

(38 -2A)C- _\ =0 3

then find ti.e matrix
(3,B*2A)Cr2,\=0.

P2s1941

and C

such that

tr,,t=la I u B=,) o

[r _2 ] r3 
1

-il
4)

X

=[
1

2

-1
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{3}

3. <-q )-28=

T^tz -l .f

ze- a=lz -l 5.
I

[0 1 ]

Determine the r.a.-i-lces A and B, if

Ir , o']

6 -3 3l
_t-D 3 tl

:.7! t\ qrc B

l
_l I -,.-l .)li rJ

:-

1

A+

4. sn fr"fu $-z-- :

Find the r,alue -

^t::-

l):
1 -l

n'.V
I

21

31,

1l

io1
t.

=l I z

[a1

t,. Cr

t:r,--:- .alculate A-1.

*2 -4

3
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5" tIFi x,, A,. = .,,- ., :E,g fi-.l'sq & I = 
y-.

clr. .x.

lf x'n yn = i.r. - .. '' . then show that 1' = 
y.

drx

l4l

qqf{I / Or

6

T-{T I

6 fuln4 :1qTE iz= -;-=a 1"14fFj {qjt Soh ;Tz- i.v:a

q€q eTI. i- =t -z:< 'k"W +fu-rqfrl-<r =r :J- -'!'

In r,l,hat timr ":r ..mount of money cloucles at
5% (p.a.) co:T-:,-',.1d interest if interest is due
annually?

Z. fSlffi qa 2s:^? 2 3qq{ Eq;fh T "'"1
9,20.25 W F i:< i;rdrflfd qZ$ }|mE ri-{E fT
q00 trfl p';i t;z:^z ''innq g't$ 1-g{ q< fr"tr
$'{l I

Conipound in:eri'st on a sum for 2 years is
f q20.25. Sin,p.ii-' iuierest on the sum lor lhe
same time is = lraiO. Fincl the sum and rate of
interest.

6
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8.

t5l

qq?i / Or

ilRs W< EF ;.t T<-r, lft 6q W w ni?< ::? ;--?

1Rmlq Tk<Fir Ei Er+ ftrB"3q--f{ 4ok r;a.a? ,-t?

EI{{ qIEa[

Find the norainal rate of interest p.a. pa'.:-:-t
half-yearl1- s'hich is equivalent to the e:;t:.-',-e
rate of 4o/o p.a

P.r,Rr-B

( Business Statistics )

'.ii-l;s ; 48 )

?fidIl aft(T< '/7: -. . r-r=3

Fili in the gaps

(a) <-et :- 
-, 

.; EK r{R-S-ir{ _=-

a, '-.==-T ..?:cra rrrq Eilq d; ..r- z:a, v l $!v al l J

Q{i I

is regar'Ced as the best meas.t:e of
central tencienc-.-.

-c-{Tk r = 0. :...t- ilrTiilq
qFtsrfl{

(b)

(c)

If r = 0, the n the trvo lines of regressions

a,'?

P251941

are .*- to each other.

{ Turn Ouer )



(6)

(d,) 'gffI:f 4=r-i -=lli'< gB t?-z<"t r

Flood ii: ',s...::l :s an example of 

- 

in
time ser,.=s

lct ffi <-= : ; .:7. TI'l t-{1 ETl

The ilic.:.- ::umber for the base vear is
taker- t i _.

9, (a) ufalfl (b =,'^- l-e< <ffii :

Answer eit;.:' -; or {b) :

{a) (A !.; . 'i s?r'J<i- "KI 3q6rc frcfii <q' ' 3

Ca,,. -,,..:e mo<le from the fbllon'ing :

_=. ).2,3,4,4, 1

(it ?--1.', ,'z 3f;11.h :11"f+' mt {F t "t TTI 53

=]4- 
--z I 5

\\-1-t:c,: ileasure of variation is
rega:'ie.c as thr: best and whY?

(iii) t- '- 1-i-8n"1 E',n{"rs 316-oa rt't
T3*: 6

Ca,cr,.1a-t the standard deviatior-r ior
the t,r11cri-ing distribution :

sq{((+Fr -i-r-46 4648 48-s0 50-52 12-54
Weigttt (kgt

T/9(fl3I, ; 3 24 27 21 5

Frequencg
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l7l

qffil / Ar

tbi ft) i ;= . Ir rr;f-iqS ;Ksft6 <ia< ,-;, -.'
/al

AM >GM > HM

Prove that for any
numbers

AM >GM > HM

iaqs ^ EctK "KID-Pqr+
F{I:

p: >, :.':

aJ

5

Ca,:-.-,. - :r -artile
fo11c'',',.::-: :aia :

deviation :t: :l:e

qln (b<P1, r l+ 35-37 38-40 '1 : ' 5!
lncome (T)

-&b. o/persor,.<

(ii, 100 r :--iz Trru -q1g g14f-- -.;-
f;:-a 5 j ::? 5, qTS \q-.T 150 l- z-^,a

;.- =-= -:TiT fq6p;1 qqB 40 =-a 6

.'= s5 250 B <rfim qqa -..:,-=

rt==- t:; ='3? 6

The mean and standard der.ialol of
100 obserr-ations are 50 and 5, and
that of another 150 observations are
4A and 6 respectively. Find the
combined standard deviation of
these 250 observations.
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10.

(8)

@) q?m (b)-c:'''z -- a'v: i

Ansrnrer eithe, :. -" 'i:) ',

$4 ft) F:-Tz; 1-a rp}lgfi-{ {rqs arcl ,fi"(flt-

i!== =-:--; qq1 
1

Dis--,-.s rhe differences betrveen
reEr: : >- lll and correlation.

(iA "l =-' a' I,m{6i{ qft-+qq

.)

: ,' - , ,rtl + 66 = 0 9lS 40x ^l8y = 214

): = - . z ifiqyff €flxs-{ :Tn B.ftt T{i I 5

G:'.,-:-- :::c two regression equations

: ,, '-ag + 66 = 0 and 40x * I\E = 214

F;i-: :,e coefficient of correrlatlon
be:-.'. =..:l -r and y.

c; : --.- :'l-+i.t< "TEl 
q?4=T ij:':E 7d{(iil

44
Ca..,,-'- :-. -.: the coefficient of
corr--i:r-i:-i from the follorving data :

-\- = !r. : -{ = 45, Xy = 108, E x2 =285,

Zy' =1356, ZW=597

==zr1 / 0r

(b) (L) ?:-:. =7' 3. qQrTqT vl{tl {X1}13I"q I?'i

Y;z :,'-= :ttttl t

Pror-e ti-rat coefficient of correlation
is the qeometric meari of the two
re gression coefficients,

6

3
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(el

(r0 oEu fim oqn< flKI qqr{6m q$lq-q. 6
tt':r : 5

Find the turo regression equations
from. the data given below ;

-r. : 146 152 158 1"64 170 i:i. 182

1i:757877798235Sb

(iii) ea= :'r' 
=..nf;iFrq 

oKI
5--+ 

-_-l": '< :

c<FIB qery?

6

Caicula:e the coefficient oi :ai<
correlation from the data s-r'er
beiou- ;

x :,SC 78 75 ZS 68 6; orl

A : -:13 14 t4 t4 i5 -5

59

t7

11. (a) w<tflt rbj q(r{ Be< o{r :

Answer either (a)ar (b):
a

lA) ';r '.; 2--77-.;-? ,l-iii]?rqi Bcll($

1=' : ?--z rftn-a fE r
"-=-a =

2+7=3

{iil qa 11- 
=-:;t 

m Tfl.r sFr r:-,-? Tll
TKfi;.< =|]rI r)t $t?ffl $TT 1-4=5
What is time series? Hxplain briefly
its main components.

\\'nat is Karl Pearson's coefficient of
correlatiorr? Wh;rt is its range?

P251941 ( Turn Ouer )



::l;-;;
\)LiailtitlJ

_;=..:.
C'Lt-t'rt'- : ':'L?cLr

i-47@l's-)
Price (ur 1

ryR?H

Qunntitg

6

2

4

10

I

50

100

60

30

40

10

2

6

tz

T2

56

t20

60

24

36

{b)
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(10 1

fiii) e;= -:.- ., - 1'; a.? ,ql€<l 1: f;1q<q

F--7:.=. ', '-. 1-:F-',T a,fi6r i7 +'X I 7

U.itr.- - - , -.ou'il-lg data. shtlii- tl'ra.t

Fis--.: . ::lie:l satisfies lai:tor
f€'':::'- :L

sen / Or

=:r - 4?:

Disc;-. ::'ie graphic method of time

ser:e s :. tlalvsis.

J

(ii) -er- :;= <f461 jQIIrr -qtgaa< :"nrro

FjF:-? -z-=i <rX{{ -BCmq fq i 5

fuIentto:: the different ttses of index

numDei' in the studY of {inance'
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( 11 )

(iii) e== jhn roB[< "r<;t T&-sr \4 ?,i _-7,
+ii z?olsm 4q FTltr r-{t r

Using the metjrod of least s-i,-..1r-.-,

calcuiate the trend values li:- .:-.r
data given below :

.7
l

q3

ia ztl

Year

Sales

: 2014 2015 2015 - - -,-S

100 120 ,:

***
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